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HOW T0 READ THE CARDS

In this book we will ook at the techniques available to you, as declarer,
when you are trying to reconstruct the defenders’ hands. If one or both
of the defenders have spoken during the auction, you are off to astrong
start. If one of the defenders made a preemptive bid, for example, you
will have afair idea of his hand before the opening lead is made. Just
as often both opponents will have maintained a discreet silence. What
then? The opening lead and the play to the first trick will tell you afair
amount about how one suit lies. As the tricks are played, with the
defenders showing out and perhaps signaling, you will gradually build
a complete picture of how the cards lie. The remainder of the play will
then become far easier.
It'stime for adeal. Try this onein four spades:

aJ1054

vKQ2

¢J83

*K76
a K A762
v)]74 N v10853
sAQ9s52 (W E ¢+ K7
»QJ103 d %9542

AaAQ983

vA96b

¢+ 1064

A8
WEST NORTH EAST SOUTH
Te pass pass Ta
pass 2¢ pass 44
all pass

West leads the «Q against your spade game. How will you play?
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You have three seemingly unavoidable diamond losers and cannot
afford atrump loser. West opened the bidding and is therefore a strong
favorite to hold the aK. Unless the card happens to be a singleton,
however, you cannot avoid losing atrick in the suit. Perhaps you should
finesse East for the trump king. If the finesse wins, you will make the
contract however the spades break. What do you think?

An important first step in reading the cards is to count how many
points the defenders hold. There are 16 points missing on this deal.
West needs only 11 or so to justify an opening bid, so thereisroom for
East to hold the aK. Two more pieces of evidence are already at your
disposal. Can you think what they are? The first is that East failed to
respond at the one level and is therefore unlikely to hold as many as 6
points. The second is that West failed to lead a diamond. What do you
make of that? If he held the ace and king of diamonds he would surely
have preferred a diamond lead to a club lead. You can deduce that East
must hold one of the top diamond honors and, since he failed to
respond, he cannot hold the aK as well!

After winning the club lead, you play the aA. Much to the admi-
ration of your partner, the singleton aK falls offside. You can now draw
trumps, eliminate hearts and clubs and lead a low diamond from
dummy. If East is asleep and fails to rise with the king on the first
round, you will make an overtrick! East will have to give you a ruff-
and-dluff when he wins the second round of diamonds.

Sometimes reading the cards requires some detective work.

aA9772

vQ87

¢ KJ53

«a Q92
A AKQS8 a 1065
v)43 N v 10
¢+ Q102 W E sA9 64
#A63 S %1087 4

AJ43

vAK9652

¢ 87

w» K5
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WEST NORTH EAST SOUTH
INT pass pass 2v
all pass

West's opening bid of INT shows 15-17 points. You protect with 2w in
the South seat and there is no further bidding. How will you play the con-
tract when West cashes the three top spades and switches to atrump?

You draw trumps in three rounds, noting the fall of the jack from
West. Everything depends on a successful guess in the diamond suit.
What is the best bet? Should you lead to the king or to the jack?

The correct answer is; ‘| have no idea... yet!” Before making the
key play in diamonds, you need to find out which defender holds the
«A. When you lead the £K from your hand West wins with the ace.
Have you been keeping track of his points? He has shown up with 14
points outside the diamond suit. He cannot therefore hold the ¢ A,
which would give him atotd of 18 points— too much for a1NT opening.

You win West's club exit with the queen, return to your hand with
aclub ruff and lead a diamond towards the dummy. ‘ Jack, please,’ you
say and when East’s ace appears the contract is yours.

Suppose East had turned up with the & A. West would need 5 points
in the minors to give him the minimum 15 points needed for a INT
opening. You would then have read him for the ¢ A and played a dia
mond to the king instead.

When you have a two-way finesse against a queen (or ajack), you
can bend the odds in your favor by obtaining a count on the hand. In
other words, you should determine the shape of each defender’s hand.
That's what you need to do on this deal:
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vQ108
¢ K105
s« AK54
AKQ5 aAJBG
v642 N v73
¢ Q732 W E ¢ 964
+£Q96 S %873
A943
vAKJ95
¢ AJS8
%102

You reach game in hearts against silent opponents. West leads the king
and queen of spades, followed by a low spade to East’s jack. East
switches to a trump. How will you play the contract?

Everything depends on your guess in diamonds. Do you have any
idea yet which way to take the finesse? At the moment it appears to be
a50-50 guess. To improve your prospects you must try to obtain a com-
plete count on the hand. If you can discover which defender holds the
majority of the diamonds, he will then be the favorite to hold the ¢ Q.
Don't forget what you have already seen in the spade suit. Which
defender do you think holds the outstanding spade? It is clearly East
because West would not have led a low spade on the third round if he
had started with a A-K-Q-5. (While it's true that East might have hid-
den this information by winning the third round with the ace, many
defenders are careless in such matters.)

You continue with two rounds of trumps, both defenders following,
and the two top clubs. When you ruff a club high, the gueen drops from
West. You return to dummy with athird round of trumps and complete
your picture of the defenders’ distribution by ruffing dummy’slast club,
West showing out.

Which defender started with more diamonds? If you have kept
track of all the suits, you will know that West started with 3-3-4-3 shape
and is therefore a 4-to-3 favorite to hold the diamond queen. You
finesse through him and on this occasion al is well. He does indeed
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hold the ¢ Q and you make the contract. Here you obtained only a nar-
row edge in your favor. Sometimes you will hold eight cardsin the crit-
ical suit and discover that the defenders’ cards split 4-1. You will then
have a guaranteed finesse against the queen on the second round.

Finally, let's look at how you can read the cards by observing the
spot cards played by the defenders. In a notrump contract, the play in
the suit the defense has led can be very revealing. How would you play
3NT here?

a 83
vKJ83
¢ K105
&«A1094
AaQJ752 AaAl106
v642 N v1097
s A7 4 L +962
K6 5 %8753
A K94
vAQS5
¢+ QJ83
*QJ2
WEST NORTH EAST SOUTH
TNT
pass 24 pass 2¢
pass 3NT all pass

West leads the a5 against 3NT. East wins with the a A and returns the
a10. How will you play?

Since no switch will cause any damage, you should hold up the
king on the second round. East continues with the a6, forcing out your
aK. How should you continue?

You need to read the lie of the spade suit. If spades are breaking
4-4 it will be safe to knock out the ¢ A, giving you nine easy tricks.
If instead spades are 5-3, it will be dangerous to play a diamond. You
will go down when West holds the « A and can claim two further
spade tricks. A better chance is to take the club finesse. So, how do
the spades lie?
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Against most defenders it will be atrivial matter to read the lie of
the spade suit. When the cards are as in the diagram, West will follow
with the a2 on the second round, making it clear that he started with
five spades. After winning the third spade, you will therefore finesse in
clubs. You will make the contract when West has the #K or when East
holds the ¢ A.

Suppose that West is alittle more cunning and follows with the a7
on the second round of spades and the aJ on the third round. (He is
hoping to convince you that he started with only four spades and that it
will be safe for you to play a diamond.) What then? You still have a
pretty big clue in the shape of East’'s 10 on the second round. If he
began with a4 A-10-6-2, he would surely have made the standard return
of the a2, his fourth-highest card. So, you should still take the club
finesse rather than playing a diamond.

If East had returned the a2 on the second round, it would be
reasonable to assume that the spades lay like this:

A 83

AaQJ75 aAT062

AaK94

In that case you would play on diamonds instead of clubs, expect-
ing to lose just one diamond and three spades.

Well, we've reached the end of this brief introductory session. The
purpose was not so much to give a complete summary of the card-read-
ing techniques available to declarer but to get you in the right mood for
the problems that follow.

Areyou ready for the challenge? No one is watching, so there’'s no
need to feel nervous! If any of the problems defeat you initialy, the
solution overleaf will make it clear how the contract could have been
made. Good luck. Gather your courage and... turn the page.
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PROBLEMS



PI’Oblem ] To Solution

Aa853

vA8752

¢+ K6

*QQ97

aK led

aQ9

vKQJ106

¢ A7 4

*A53
WEST NORTH EAST SOUTH
pass pass pass Tw
Ta 247 pass 4v
all pass

West, who passed initially, leads the aK against your heart game. He
continues with the ace and jack of spades, forcing you to ruff. How will
you play from here?

PI’Oblem 2 To Solution

Aa9654
v/764
¢J105
%]94

v5 led
AaAKQJ1032
v J—
¢ AK6
&®A76

WEST NORTH EAST SOUTH

Tv dbl
4w pass pass 64
all pass

With ten tricks in your hand, it is obvious (ahem!) to bid a small slam.
West leads the »5 to East’s ace. How will you play?
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Prob|em 3 To Solution

A KQ?2
v]7643
¢/ 4
& KJ5

*K led
AaA98764
v AK
*eAb62
& A4

WEST NORTH EAST SOUTH
Ta

4 44 pass ba

all pass

West leads the ¢ K and East followswith the « 3. How will you proceed?

Prob|em 4 To Solution
A942
vA542
¢ A9853
&7
*Q led
AaK106
vKQJ976
* Q)
& AK
WEST NORTH EAST SOUTH
le
T4 4a* pass ANT
pass S5¢* pass 6w
all pass

You win with the «A and play the king and queen of hearts, East
throwing a club on the second round. When you lead a diamond honor,
West covers with the king. How will you continue?
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To Protlem SOLUTION TO PROBLEM 1

Aa853

vA8752

¢+ K6

*QQ97
a AKJ72 A 1064
v — N v943
+J1083 et + Q952
%10862 > ~KJ4

aQ9

vKQJ106

¢A7 4

*AS53
WEST NORTH EAST SOUTH
pass pass pass Tw
Ta 247 pass 4w
all pass

West, who passed initially, leads the &K against your heart game. He
continues with the ace and jack of spades, forcing you to ruff. How will
you play?

There are two possible losers in the club suit and you can afford to
lose only one more trick. If West holds the &K you can restrict your
club losers to one ssimply by leading towards the Q. However, West
would surely have opened the bidding if he held aA-K-J-x-X, the &K
and a heart void. (We know several players who would have opened 14
on the cards that West actually held!). So, you can be almost certain that
East holds the «K. What chance is there in that case?

You must aim for an elimination play, hoping to endplay East in
clubs and thereby force him to lead away from the £K. You cash the
king and ace of diamonds and ruff a diamond high, eliminating that
suit. You then draw trumps in three rounds, ending in the South hand.
These cards are till to be played:
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v5

‘_

«Q97
a— a—
v — N v —
* — W E * Q
10862 5 % KJ4

A_

v 10

‘_

&®«A53

You lead a low club from the South hand. West is likely to play the
eight, six or two and you cover in the North hand, forcing East to win
the trick. He must now lead a club away from his king or give you a
ruff-and-dluff, so you make the contract. West would do no better by
inserting the %10, of course, because you would cover with dummy’s
Q. After winning with the &K, East would have to lead from his &J
around to dummy’s 9. Ten tricks once again.

If West had opened the bidding with 1a instead of passing, you
would have read the cards differently. West would then have been a big
favorite to hold the K. You would have opted for that chance instead
of the elimination play.
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To Praer SOLUTION T0 PROBLEM 2

A9654

v/764

¢J105

%]94
o — a87
vKJ953 N vAQ1082
+8743 Wk + Q92
10853 : *KQ2

aAKQJ1032

v_

¢ AK6

®A76
WEST NORTH EAST SOUTH

Tw dbl

4w pass pass oA
all pass

South had no reason whatsoever to expect North to cover two of his
three losers. Bravely (or foolishly, you may think) he bid 6 & neverthe-
less. How will you play the slam when West leads the %5 to East’s ace?

You must take a successful diamond finesse, eliminate the heart
suit and then exit with a low club from your hand, hoping to endplay
one defender or the other. Since you need entries to dummy, you should
ruff the first round of hearts with an honor. You then crossto the a9 and
ruff another heart with an honor, eliminating that suit. You draw East’s
last trump and cross to the a6. Your next move is to run the «J.
Whether or not East decidesto cover (thereisno point in him doing so),
you play three rounds of diamonds, eliminating that suit.

After this competent start to the proceedings, you have reached this
position:
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'_

‘_

%]94
! !
v — N vQ
. Wk .
+#10853 5 +KQ?2

a 10

v_

‘_

s« A76

You lead the %6 towards dummy and West plays the 3. What now? If
the opponents had not bid, your best chance would be to play West for
the king and queen of clubs, rising with the jack. (This assumes that
West is a sound performer who will not give the game away by rising
with an honor when thisis certain to leave him endplayed.) Why would
that be the best line? Because it would need only two cards to be well
placed — the king and queen of clubs.

On the present deal, however, East has opened the bidding. The fact
that he played the ace of hearts at Trick 1 suggests that West may hold
the king. If West's hearts were headed by the king-queen he would have
led an honor, so the hearts are most likely to be divided v K-x-x-x-x with
West and v A-Q-x-x-x with East. East has also shown up with the ¢Q
but he needs something good in clubs to give him an opening bid. You
should therefore play East for the K-Q. For an endplay to succeed, you
will need West to hold the %10. Three cards will have to be well placed.

You finesse dummy’s %9 and it fetches an honor. East may well
attempt a mild deception by winning with the £K. He has to return a
club, since a heart return would concede a ruff-and-sluff. You run his
low club return to dummy’s jack and the ambitious slam is made.

On aded like thisthe card reading in heartsis no certainty because
if East holds v A-K-x-x-x or v A-K-Q-x-x he might make a cost-noth-
ing falsecard of the vA. It works out best, in the long run, to assume
that the opponents have not fal se-carded.
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INTERMEDIATE/ ADVANCED

[ESTEAOUR CARD READING!






